0(2)

Kanbkynarop KM lOM3-6 Vv 06blIYH. 0(1) 19 / 40 = 0,475
CKOpeH -
1055 g IV - 34,26 ob/xs| 162,81 M/XB- yCKop 02 21 / 37 0,56757
37 |08 i . | 3X | 24 / 34 = 0,70588
271137 |42 |30 24l |us x1 I 27 / 32 = 0,84375
_ 14 72 | Knn 1 30 / 29 = 1,03448
dsuratesib | v 37 / 21 = 11,7619
CMJ - 18H 1 41 | Vv 41 , 18 - 227778
1500 o06/x8B 718,328 nl
500  Hm 2 o B o it s e 22 Vor | ML 13 / 53 = 024528
x1 14 / 72 = 0,19444
| Po3paTka 32 / 28 = 1,14286
1,667 28 28 / 32 = 0,875
1,666667 18 / 1 = 18
s — il [ ] N E—
r-53 6 / 37 = 0,16216
NBM r-66 6 / 4 = 0,14634
1 & 1/1=nio6as( ) 3un131 1 / 7,339 = 0,13626
1 =ntobasa(napasnTka Ypan 1 / 89 - 011236
| 8,9
1 - Cropoctb | 9,769 Kkm/uac |
NBM-Ypan375 431 30 cT.pag, L/o6 obop,
870 11,2R20 460 2,89018 W10
Pa3Huua | -2.93 | % 13,6R20 480 301584 W12
I . Mep. koneca 1,463 00.x8 11,2R24 497 3,122651 W10
O6roHHas mydTa 13,021 06.x8 12,4R24 3,32999 W12
Mpober, AL 4,77 M/x8B 420/70 569 3,575027 W12
14,9R24 565 3,549895 W13
MocTt
dopmyna| 06.aBur 0(1) X.YM Knn BT.BanN nl x1 06/xB PesnHa | 764 Pe3uHa 3agHAA
1500 x | 0,568 | x 1 x 10,84375| = [ 718,328 | x | 0,25 X 0,194 = | 34,259864 | x 4,7522 = 162,80973 m/xs 15,5R38 730 4,58659 w14
¢ 16,9R38 4,800212 W15
Po3g MBM 06/x8 Pe3nHa 18,4R38 793 4,982419 W15
[718,328] x [ 0,6 | x [0,112] = [ 48,426587 | «x 3,2634 = 158,03532 m/xs
Manoc3Wl [ 1 | %
Crat. Rnom 764 mm
dakT. cT. R 756 Mmm
M3Hoc cT. R -0,76 cm
Mawocll | 2 | %
Crat. Rnom 530 mm
dakT. cT. R 519 mm
M3Hoc cT. R -1,06 cm




